LAMP.

JSET«VINoO—XeY
GRAVITY SOFT-CLOSE HINGE

DV lation
Lapcon DesignTec

HfISHAAE _
Installation instructions

HG-JG150

CDVIF, BHERZECRAVCREESDDHESTENEXT,
BERAICABZ R BHHIDSA. EULKEDMIFTIEE 0,
Bff&F. FBZLWDTHERDOHEDLIICRELTLEE L,

Thank you for using our product. Before installation,
please read this manual thoroughly to ensure correct installation.
Please keep this manual at hand for future reference.

ARmlcDOWLWT ABOUT THE PRODUCT

VI hMoO—-ABEENZEDISETsEVITT,
This product is a gravity hinge with a soft-close function.

{t#%& SPECIFICATION

W 335 Door size B Bttt Opening direction

w= 200U T ERT T
ax. Left opening Right opening
e =HG-JG150L =HG-JG150R

mIt Hinge

FEZCELEETN
Video link

mJt Hinge

80 ~ 180

10~20kse

2400LF
Max. 2400

AEDFHBIFHG-JG150RZRLE T,
In this manual, HG-JG150R is used as an example.

#*#E Recommended .
FEacH)  REEW) = 2:1 W FEREEEH
Operating temperature
(& i¥3 CAUTION

0T ~ 40T

ROPRUNDOEVEZEAL TSV, REFCTHUYISIELWBSZNHSHDFT,
Use a door that is straight. A warped door may not close completely.

-

IEUKZ2CMDFHIF T ThIc  FOR YOUR SAFETY AND CORRECT INSTALLATION

2RI 3 Meaning of symbols
Ty -
=8 K = Warning o .
A P ® - | 0 EEsF Caution ®Proh|blted oReqmred
e N ~

A If not followed, injury or damage
may resulit.

NEE BEEE5TL0. YNESHRLETS
BZENHHHIABTZRLET .

O EETA TR SHOKE. BEEEHTTFo TS,
WRDORD . EEPRUNE. HEFEEDFERICEDET,

@ Follow the specified dimensions, specifications,
and alignment of the cabinet.
Warping, tilting or twisting of the cabinet or door
may cause failure.

O FoEE. FEORFEOEEICTZ S 2REDFrERY M= | | @ Provide a cabinet that can withstand the weight
BYELTLIEEL, &, RUIRMTEELIBDZEFERL and impact of opening and closing the door.
ERICHDDIFTLIEEV, BYTEENTRELCLDE. BED Be sure to use the specified screws and tighten
BEELCIITDZET H2BZNHEHDOET, them securely.

If the mounting strength is insufficient,

the door may fall and cause injury.

O RUDEHFDEELELD. EHNICRIRL. IBURMDLT | | @ Make sure to check the screws for slack at regular
LPEEEVBELVIRDD S 1 5B E65 B, 0% intervals (one month from first usage, half a year,
1ECEZBRICUTLIEELY), and then one time every year is recommended).

/.

Y7 MO-X%H Soft-close RANGE B BEOH2X DOOR FORME

#2E Recommended
S R3xX7=XC3ULE

& AN R3 or C3 or more
V7 hoO—XEH -
Soft-close range B Door .
0" ~65° 7 U—45H \
Free range
65" ~ 180°

Tk Y YIRHG-JG 150RERLET. HG-JG150LIEEAHTATY.

T it — S = A\ S S RS M ESY B T1-c bolow shows HG-JG 150R. HG-JG150L is a mirror image.
5 E] EAA ] EAE
Door Cabinet Door

B #2324 U Recommended screws
- MBJ\1~ RIMa L

- MBIER/NRUL

- MB7RATUFERID

- M7 AEITUSERY ViRIL

- Bind head screw M6

Cabinet Befl EE{A
Door Cabinet

D& e

X2 ) X4 - Pan head screw M6
- Hexagon socket head cap screw M6
ey TeVy HIN— HEE T —N - Hexagon socket button head screw M6
Upper Hinge Lower Hinge Cover Adjustment Plate

¥THG-JG150LDZEIFL]&FR Marked as "L" for HG-JG150L

B FH9T5ITE Tools needed TSARSAI\—2F
phillips screwdriver : # 2

JAFTARSA )\ —
flathead screwdriver

Cr——= C——
Hf3FIE INSTALLATION
Bl £ Y0EbfiF Hinge installation (]
\ GE FERETORODOWE 8o EHDE
< - Clearance needed for Stroke
T _ door installation.
SL o —= | Adiustment Plate 50 mmBlE 13 mm

1200
1200

Close F Open

Al Al
o o
3 5%

40

14

102

%46 ~ 246

\

/\ #E CAUTION
%2 EVIBYTEYF (P) WEEEFRTEUICEDKLSIC. BOFFHFTLEEL,
EDBEHUYISIEL. FeldF. FVIN\—DEULEELEWVLAIREED GO E T,
%2 Dimension P on the door and the cabinet must be the same.
If not, the door may not fully close or the damper may not work properly.

AERICEAITRER - T,
CHBALDIRSEE AOSEVSHEEEBLTENFT,

X B (FARIRERFEZ A ELTHEDFIDT, BRFTRIBIEAKLTHRL
BDRVWIIHKEN ZLA—ZXBMIECHRDFET,

LAMP O EERT YA &Y A—H—

SUGATUNE ATV RI %

TEL:03-3864-1122(f%) FH9:00~17:30
E-mail : support@sugatsune.co.jp

2021.06. 1432-2




E mosbiA# Hanging door  [@ 5}
90° RUVVIREETIEEL TLIEELN,
Hang the door at 90° position.
é NV N\
?
% {
| | —
@o\ |
Iy
i
ey ey
Lower Hinge Upper Hinge
B EMNEDFEE Door adjustment (3 mm)
BRENUIRETEELTLIEEL\. The work should be done with the door removed.
o +3 mm —3 mm

@
oL
—

<

FEEIE. QUDEFEVELS Lo b EMHHTLIESL,
Be sure to fasten the screws securely.

(& 35 CAUTION

B bt IDER%ESEd D Checking the gap on the hinge W H/\—OE{FIF

revy Install cover _
Upper Hinge el Door
eV IDOEEN 2 ~ 3 mMMICE>TVBDESRLTL FEEL,
) BEHERUCYSEWL. FlE. FVIN—DELLEHELIEN

AEEMEDH DX,

Check the gap if itis 2 - 3 mm.
If not, the door may not fully close or the damper
may not work properly.

8

2~3 mm

=

I

{48l Cabinet

B EFILEEDFEE Adjustment of closing speed
n REFRZBQUEEDD

Loosen the adjustment screw.

A F= CAUTION

Be sure to fasten the adjustment screw securely after the adjustment.

H BERERQUZBET D

Move the

adjustment screw.

FEHSRIE Top view

LL

Zle
4

fAEhSERE

Side view

pr

- gy

(‘%ﬁ%ﬁli\ BEFABRQUNETEVKS Lo b &M TLIEE L,

BAFIE REMOVAL

B EFOHEY L Removal door

90° BLVEIREETIEEL TLEELN,
Remove the door at 90° opened.

2.

\:>

B H/\—DH¥ L Removal cover

BEZHN UIEREETIER LT IEE LY,

BEfAl
Door

L /e

2]

Ny

S

|

96:\/{
\_

EE{AR
Cabinet

The work should be done with the door removed.

O .0

oS

PR

SUGATSUNE KOGYO CO.,LTD

Tokyo, JAPAN

SUGATSUNE SHANGHAI Co., LTD

Shanghai, CHINA

Phone: +81 (0)3 3866 2260 E-mail:export@sugatsune.co.jp Phone: +86 21 3632 1858
SUGATSUNE KOGYO (UK) LTD

Reading, UK
Phone: +44 118 9272 955

E-mail:sales@sugatsune.co.uk

SUGATSUNE EUROPE GmbH

Diisseldorf, GERMANY

Phone: +49 211 53812900  E-mail:sales@sugatsune.eu

Guangzhou, CHINA
Phone: +86 20 6639 3552

E-mail:lamp@sugatsune.com.cn

E-mail:lamp@sugatsune.com.cn

SUGATSUNE KOGYO INDIA PRIVATE LIMITED

Mumbai, INDIA

Phone: +91 22 28314490/91 E-mail:sales@sugatsune.in
1S09001(Japan Offices and Sugatsune America) and 1ISO14001(Chiba Production division and Logistics center), certified.

SUGATSUNE AMERICA, INC

California, USA

Phone: +1 310 329 6373 E-mail:sales@sugatsune.com
Chicago, USA

Phone: +1 312461 1081 E-mail:chicagoshowroom@sugatsune.com.

SUGATSUNE CANADA, INC.
Phone: +1 514 312 5267 E-mail:support@sugatsune.ca



